

TUTORIAL NOTES FOR MATH4220

JUNHAO ZHANG

1. D'ALEMBERT FORMULA AND WAVE EQUATIONS

Let us recall the d'Alembert formula for the one dimensional Cauchy problems of wave equations.

Theorem 1 (d'Alembert formula). *Suppose $u_0 \in C^2(\mathbb{R})$, $u_1 \in C^1(\mathbb{R})$, $f \in C^1(\mathbb{R})$. Then*

$$\begin{aligned} \partial_t^2 u - \partial_x^2 u &= f, & (t, x) \in \mathbb{R}_+ \times \mathbb{R}, \\ (u, \partial_t u)(0, x) &= (u_0, u_1)(x), & x \in \mathbb{R}, \end{aligned}$$

has a solution $u \in C^2(\mathbb{R}_+ \times \mathbb{R})$ which is defined by

$$u(t, x) = \frac{1}{2}(u_0(x+t) + u_0(x-t)) + \frac{1}{2} \int_{x-t}^{x+t} u_1(y) dy + \frac{1}{2} \int_0^t \int_{x-(t-s)}^{x+(t-s)} f(s, y) dy ds.$$

In the following, we discuss some applications of d'Alembert formula to study the half space problems for wave equations.

Example 2. Suppose $u_0 \in C^2(\mathbb{R}_+)$, $u_1 \in C^1(\mathbb{R}_+)$, $u_b \in C^2(\mathbb{R}_+)$, $f \in C^1(\mathbb{R}_+)$ and the compatibility condition holds

$$u_0(0) = u_b(0), \quad u_1(0) = u_b'(0), \quad u_0''(0) = u_b''(0).$$

. Then

$$\begin{aligned} \partial_t^2 u - \partial_x^2 u &= f, & (t, x) \in \mathbb{R}_+ \times \mathbb{R}_+, \\ (u, \partial_t u)(0, x) &= (u_0, u_1)(x), & x \in \mathbb{R}_+, \\ u(t, 0) &= u_b(t), & t \in \mathbb{R}_+, \end{aligned}$$

has a solution $u \in C^2(\mathbb{R}_+ \times \mathbb{R}_+)$. Moreover, for $x \geq t$,

$$u(t, x) = \frac{1}{2}(u_0(x+t) + u_0(x-t)) + \frac{1}{2} \int_{x-t}^{x+t} u_1(y) dy + \frac{1}{2} \int_0^t \int_{x-(t-s)}^{x+(t-s)} f(s, y) dy ds,$$

for $0 \leq x < t$,

$$\begin{aligned} u(t, x) &= u_b(t-x) + \frac{1}{2}(u_0(x+t) - u_0(-x+t)) + \frac{1}{2} \int_{-x+t}^{x+t} u_1(y) dy \\ &\quad + \frac{1}{2} \int_0^{t-x} \int_{-x+(t-s)}^{x+(t-s)} f(s, y) dy ds + \frac{1}{2} \int_{t-x}^t \int_{x-(t-s)}^{x+(t-s)} f(s, y) dy ds. \end{aligned}$$

Solution. Denote

$$v(t, x) = u(t, x) - u_b(t),$$

then

$$\begin{aligned}\partial_t^2 v - \partial_x^2 v &= g, & (t, x) \in \mathbb{R}_+ \times \mathbb{R}_+, \\ (v, \partial_t v)(0, x) &= (v_0, v_1)(x), & x \in \mathbb{R}_+, \\ v(t, 0) &= 0, & t \in \mathbb{R}_+, \end{aligned}$$

where $g(t, x) := f(t, x) - \partial_t^2 u_b(t)$, $v_0(x) = u_0(x) - u_b(0)$, $v_1(x) = u_1(x) - \partial_t u_b(0)$. To solve the above problem, we set

$$\begin{aligned}\tilde{g}(t, x) &= \begin{cases} g(t, x), & x \geq 0, \\ -g(t, -x), & x < 0. \end{cases} \\ \tilde{v}_0(x) &= \begin{cases} v_0(x), & x \geq 0, \\ -v_0(-x), & x < 0. \end{cases} \\ \tilde{v}_1(x) &= \begin{cases} v_1(x), & x \geq 0, \\ -v_1(-x), & x < 0. \end{cases} \end{aligned}$$

Let \tilde{v} be the solution to the following problem

$$\begin{aligned}\partial_t^2 \tilde{v} - \partial_x^2 \tilde{v} &= \tilde{g}, & (t, x) \in \mathbb{R}_+ \times \mathbb{R}, \\ (\tilde{v}, \partial_t \tilde{v})(0, x) &= (\tilde{v}_0, \tilde{v}_1)(x), & x \in \mathbb{R}. \end{aligned}$$

We claim that $v = \tilde{v}$ when we restrict x to \mathbb{R}_+ . Then it suffices to prove $\tilde{v}(t, 0) = 0$ for all $t \in \mathbb{R}_+$. Indeed, by the d'Alembert formula,

$$\tilde{v}(t, x) = \frac{1}{2}(\tilde{v}_0(x+t) + \tilde{v}_0(x-t)) + \frac{1}{2} \int_{x-t}^{x+t} \tilde{v}_1(y) dy + \frac{1}{2} \int_0^t \int_{x-(t-s)}^{x+(t-s)} \tilde{g}(s, y) dy ds,$$

then it can be checked that $\tilde{v}(t, 0) = 0$. Therefore for $x \geq t$,

$$u(t, x) = \frac{1}{2}(u_0(x+t) + u_0(x-t)) + \frac{1}{2} \int_{x-t}^{x+t} u_1(y) dy + \frac{1}{2} \int_0^t \int_{x-(t-s)}^{x+(t-s)} f(s, y) dy ds,$$

for $0 \leq x < t$,

$$\begin{aligned}u(t, x) &= u_b(t) + \frac{1}{2}(v_0(x+t) - v_0(-x+t)) \\ &\quad + \frac{1}{2} \int_{x-t}^0 -v_1(-y) dy + \frac{1}{2} \int_0^{x+t} v_1(y) dy \\ &\quad + \frac{1}{2} \int_0^{t-x} \int_{x-(t-s)}^0 -g(s, -y) dy ds \\ &\quad + \frac{1}{2} \int_0^{t-x} \int_0^{x+(t-s)} g(s, y) dy ds + \frac{1}{2} \int_{t-x}^t \int_{x-(t-s)}^{x+(t-s)} g(s, y) dy ds \\ &= u_b(t-x) + \frac{1}{2}(u_0(x+t) - u_0(-x+t)) + \frac{1}{2} \int_{-x+t}^{x+t} u_1(y) dy \\ &\quad + \frac{1}{2} \int_0^{t-x} \int_{-x+(t-s)}^{x+(t-s)} f(s, y) dy ds + \frac{1}{2} \int_{t-x}^t \int_{x-(t-s)}^{x+(t-s)} f(s, y) dy ds. \end{aligned}$$

Example 3. Suppose $u_0 \in C^2(\mathbb{R}_+)$, $u_1 \in C^1(\mathbb{R}_+)$, $u_b \in C^1(\mathbb{R}_+)$, $f \in C^1(\mathbb{R}_+)$ and the compatibility condition holds

$$u'(0) = u_b(0), \quad u_1'(0) = u_b'(0).$$

Then

$$\begin{aligned}\partial_t^2 u - \partial_x^2 u &= f, & (t, x) \in \mathbb{R}_+ \times \mathbb{R}_+, \\ (u, \partial_t u)(0, x) &= (u_0, u_1)(x), & x \in \mathbb{R}_+, \\ \partial_x u(t, 0) &= u_b(t), & t \in \mathbb{R}_+, \end{aligned}$$

has a solution $u \in C^2(\mathbb{R}_+ \times \mathbb{R}_+)$. Moreover, for $x \geq t$,

$$u(t, x) = \frac{1}{2}(u_0(x+t) + u_0(x-t)) + \frac{1}{2} \int_{x-t}^{x+t} u_1(y) dy + \frac{1}{2} \int_0^t \int_{x-(t-s)}^{x+(t-s)} f(s, y) dy ds,$$

for $0 \leq x < t$,

$$\begin{aligned} u(t, x) &= - \int_0^{t-x} u_b(s) ds + \frac{1}{2}(u_0(x+t) + u_0(-x+t)) \\ &\quad + \frac{1}{2} \int_0^{t-x} u_1(y) dy + \frac{1}{2} \int_0^{x+t} u_1(y) dy \\ &\quad + \frac{1}{2} \int_0^{t-x} \int_0^{-x+(t-s)} f(s, y) dy ds + \frac{1}{2} \int_0^{t-x} \int_0^{x+(t-s)} f(s, y) dy ds \\ &\quad + \frac{1}{2} \int_{t-x}^t \int_{x-(t-s)}^{x+(t-s)} f(s, y) dy ds. \end{aligned}$$

Solution. Denote

$$v(t, x) = u(t, x) - x u_b(t),$$

then

$$\begin{aligned}\partial_t^2 v - \partial_x^2 v &= g, & (t, x) \in \mathbb{R}_+ \times \mathbb{R}_+, \\ (v, \partial_t v)(0, x) &= (v_0, v_1)(x), & x \in \mathbb{R}_+, \\ \partial_x v(t, 0) &= 0, & t \in \mathbb{R}_+, \end{aligned}$$

where $g(t, x) := f(t, x) - x \partial_t^2 u_b(t)$, $v_0(x) = u_0(x) - x u_b(0)$, $v_1(x) = u_1(x) - x \partial_t u_b(0)$. To solve the above problem, we set

$$\tilde{g}(t, x) = \begin{cases} g(t, x), & x \geq 0, \\ g(t, -x), & x < 0. \end{cases}$$

$$\tilde{v}_0(x) = \begin{cases} v_0(x), & x \geq 0, \\ v_0(-x), & x < 0. \end{cases}$$

$$\tilde{v}_1(x) = \begin{cases} v_1(x), & x \geq 0, \\ v_1(-x), & x < 0. \end{cases}$$

Let \tilde{v} be the solution to the following problem

$$\begin{aligned}\partial_t^2 \tilde{v} - \partial_x^2 \tilde{v} &= \tilde{g}, & (t, x) \in \mathbb{R}_+ \times \mathbb{R}, \\ (\tilde{v}, \partial_t \tilde{v})(0, x) &= (\tilde{v}_0, \tilde{v}_1)(x), & x \in \mathbb{R}. \end{aligned}$$

We claim that $v = \tilde{v}$ when we restrict x to \mathbb{R}_+ . Then it suffices to prove $\partial_x \tilde{v}(t, 0) = 0$ for all $t \in \mathbb{R}_+$. Indeed, by the d'Alembert formula,

$$\tilde{v}(t, x) = \frac{1}{2}(\tilde{v}_0(x+t) + \tilde{v}_0(x-t)) + \frac{1}{2} \int_{x-t}^{x+t} \tilde{v}_1(y) dy + \frac{1}{2} \int_0^t \int_{x-(t-s)}^{x+(t-s)} \tilde{g}(s, y) dy ds,$$

then it can be checked that $\partial_x \tilde{v}(t, 0) = 0$. Therefore for $x \geq t$,

$$u(t, x) = \frac{1}{2}(u_0(x+t) + u_0(x-t)) + \frac{1}{2} \int_{x-t}^{x+t} u_1(y) dy + \frac{1}{2} \int_0^t \int_{x-(t-s)}^{x+(t-s)} f(s, y) dy ds,$$

for $0 \leq x < t$,

$$\begin{aligned} u(t, x) &= u_b(t) + \frac{1}{2}(v_0(x+t) - v_0(-x+t)) \\ &\quad + \frac{1}{2} \int_{x-t}^0 v_1(-y) dy + \frac{1}{2} \int_0^{x+t} v_1(y) dy \\ &\quad + \frac{1}{2} \int_0^{t-x} \int_{x-(t-s)}^0 g(s, -y) dy ds \\ &\quad + \frac{1}{2} \int_0^{t-x} \int_0^{x+(t-s)} g(s, y) dy ds + \frac{1}{2} \int_{t-x}^t \int_{x-(t-s)}^{x+(t-s)} g(s, y) dy ds \\ &= - \int_0^{t-x} u_b(s) ds + \frac{1}{2}(u_0(x+t) + u_0(-x+t)) \\ &\quad + \frac{1}{2} \int_0^{t-x} u_1(y) dy + \frac{1}{2} \int_0^{x+t} u_1(y) dy \\ &\quad + \frac{1}{2} \int_0^{t-x} \int_0^{-x+(t-s)} f(s, y) dy ds + \frac{1}{2} \int_0^{t-x} \int_0^{x+(t-s)} f(s, y) dy ds \\ &\quad + \frac{1}{2} \int_{t-x}^t \int_{x-(t-s)}^{x+(t-s)} f(s, y) dy ds. \end{aligned}$$

A Supplementary Problem

Problem 4. Show that the solution u to one dimensional wave equation,

$$\partial_t^2 u(t, x) - \partial_x^2 u(t, x) = 0, \quad (t, x) \in \mathbb{R}_+ \times \mathbb{R},$$

satisfies that for arbitrary $(t, x) \in \mathbb{R}_+ \times \mathbb{R}$ and $\xi, \tau \in \mathbb{R}$,

$$u(t, x) + u(t + \xi + \tau, x + \xi - \tau) = u(t + \xi, x + \xi) + u(t + \tau, x - \tau).$$

For more materials, please refer to [1, 2, 3, 4].

REFERENCES

- [1] S. ALINHAC, *Hyperbolic partial differential equations*, Universitext, Springer, Dordrecht, 2009.
- [2] L. C. EVANS, *Partial differential equations*, vol. 19 of Graduate Studies in Mathematics, American Mathematical Society, Providence, RI, 1998.
- [3] Q. HAN AND F. LIN, *Elliptic partial differential equations*, vol. 1 of Courant Lecture Notes in Mathematics, New York University, Courant Institute of Mathematical Sciences, New York; American Mathematical Society, Providence, RI, 1997.
- [4] W. A. STRAUSS, *Partial differential equations. An introduction*, John Wiley & Sons, Inc., New York, 1992.

Email address: jhzhang@math.cuhk.edu.hk